PK17908 - PUMP, FAIP

88 89

M&S SERVICE CO. INC | 800-475-5660 1 July, 2007



PK17908 - PUMP, FAIP - PARTS LIST

Part #
FA-57015402

HH o HHHH

FA-15024000
FA-15001500
#

F187
FA-15000100
#

#
FA-15060500
FA-23732300

HH o oH o H

FA-52036700
FA-15000600
FA-50139700

A-10205200

o HH TR R

Description
Vented Valve Assy

O-Ring

Disc Bearing
Needle Bearing
Wobble Plate

Cap

Disc Bearing
O-Ring

O-Ring

Inlet Extension Kit
Gasket Wfilter
O-Ring

O-Ring

Valve Assembly
O-Ring

Manifold

O-Ring

Screw STEI M6x6x8
Chemical Spring
Stainless Steel Ball 3/16
O-Ring

Chemical Elbow
O-Ring

Brass Screw

No Return Valve
Spring

Injector Nozzle
O-Ring

O-Ring

Injector Nipple
Screw TCEI M5X30
By-Pass Pin

Valve Plate Seat
Valve Seat

Back Ring for O-Ring

#- Order kit, not available as an individual part

Key# Part# Description

49 # O-Ring

50 # By-Pass Body Valve

51 # Plug 1/8

52 # Stainless Steel Ball 7mm

53 # By-Pass Piston

54 # Back Ring

55 # Spacer

56 # Pressure Regulator
Spring

57 # Pressure Regulator
Nut

58 # Ring

59 # Piston

60 # Spring

61 FA-10200400 Screw TCEI M6X30

62 FA-15065600 O-Ring

63 FA-15202400 Oil Seal

64 FA-52038801 Brass Bushing

65 FA-15001800 O-Ring

66 FA-57137400 Oil Fill Cap

67 FA-15501800 High Pressure Seal

68 # O-Ring

74 FA-10204100 Screw TCEI M6X35

75 # O-Ring

77 # O-Ring

78 # Outlet Extension

79 17658 Thermal Relief

84 FA-52069301 Washer

85 # Pin

87 # Screw STEI M5x6

88 FA-15000300 O-Ring

89 FA-52036800 Clutch for Chemical
Elbow

Kits Available:
FA-YKI57015402 Oil Seal Kit:

Includes key #’s 3,16,18,63,(1 each) 62,66 (2 each)
FA-YKI57138900 Wobble Plate Kit:

Includes key #'s 11 (3 each),12 (2 each),13,14,15
(1 each)

18243 Inlet Kit:
Includes key #'s 21,77 (1 each)
#21 includes:Extension,Swivel, and

18218 Outlet Kit:

Swivel Nut

Includes key #'s 77,78 (1 each)
#78 includes:Extension,Swivel, and

Swivel Nut

FA-YKI52033600 Piston Kit:

Includes key #'s 58,59,60 (3 each)
FA-YKI5501800 Packing Kit:

Includes key #’s 65,67,84 (3 each)

16026 Valve Kit:

Includes key #’s 25,26,27,68 (6 assemblies)

FA-YKI52032501 Unloader Check Kit:
Includes key #’s 29,37-42

FA-50381300 Injector Repair Kit:

Includes key #’s 31,32,35,75 (1 each)
FA-YKI52052302 Unloader Set Kit:
Includes key #’s 41,46,47,52 (1 each)
FA-YKI23731500 Unloader Stem Kit:
Includes key #’s 10,24,33,48-50,53-57,85,87

(1 each)

FA-YKI57113900 Manifold Kit:
Includes key #’s 10,24,27-42,44-57,75,85,87

General Information:

Built-in unloader

15W50 synthetic oil - 4 oz.

Pump kit contains: 17908 pump
15231 chemical hose
17658 thermal relief valve
15294 key
16330 plastic cap

M&S SERVICE CO. INC | 800-475-5660

July, 2007



